BDH
PROVISIONAL ANSWER KEY

Name of The Post Deputy Executive Engineer (Electrical), Gandhinagar

Municipal Corporation Class-2

Advertisement No 40/2021-22
Preliminary Test Held On 30-01-2022
Que. No. 001-300

Publish Date 04-02-2022

Last Date to Send Suggestion (S) 11-02 -2022

Instructions / 3ol (Physical Submission)
Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet
PHYSICALLY.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).

G edIR o{lAeil YUoilBilef Uldel sclofl d3el] AW, Bouell ditl-YUsl i) 539 12VlLd] tla
aqiel «&l
(1) GALdR didl-YUell [Add S 11Ad ditl-¥Ael UsAse] 22 sd il 2ER.

(2) GUEdR UHUHI ditl-YUell 2% 5L A1 U URite AAd [ddd ditil-yUst UnASell
oiYsile] % GUALL 5.

(3) GALdR Uldlal UlatHi HAd YUY RASIHI 9UIAE URSHIS Yoo ditl-YUst] 22 ol 5cll dHIH
digl-yUell AU U Uit 6AG Yl[dreld w12 S (HIReR UBUA)sll Usl SHIS Yool Wl d
Aeelui 0 s2dl.

(4) U1 USUA Ui A2 ust a [Asey [Ad el ditil-Y et dlel Qo lH] w1dQ) il

(5) GREAR % URlell (A5 UR dit] 2% 536 & el [Asey U % % lod YUdd B 2 %clod GHedR
Uldlefl GrRad&lui wUd eld) a5, GAed R YUAd dlod el GrdRdElell asallod (¢3t &2l dl
GHed IR 2% 539 ditl-YUst LdleiH AR oAl

(6) W5 WS HI2 WS % ditl-YUel Uas dlUG, A5 % didl-YUet UAsHI 158l aaR usllel 22q41d
539 &2l dl A 2etl ditll-¥yAell il Ad Q) «i&l.

(7) U3lewHl sloR ¥A GAEAR % citl - YUot 9y 53| A5 .
(8) GRAeal? clul-YUol A& Wclloll scuataglell aisct @sial scusdl 234
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001.

002.

003.

004.

005.

006.

007.

008.

siagL Hall (33 ﬂ@i@q (Kiren Rijiju) Hld-l UqH "\tél{:\i. gl v (Sports Arbitration Center):i
GeaueH.......... vid 54,

@ (B) d¢iounu

(C) H8IRZ (D) [2&dl

L0 USIRU A AA AAAR, MIRA A ... s Al Hiew cuuir MRllER adls me: ada ©.
(A) wau @

(©) adla (D) gl

DRDO i ‘Akash Prime’ d<l3 20wl 2us12 [Rudanu Gl=l sau-i (Upgrade) A58, (Version)
uZlael uAURL (Test Fired) 54, 1A Ul 54 qae A 20 [Rudadd aa el ?

(A) d ol udl 2u51 (Surface to air) -l HeHsau-dl [Buda 9.

(B) d DRDO &=L [dsuacuni 2udl € 241 d+f [Amiel Bharat Dynamics Limited gl20 $2aH 20 6.
@) au (B) vin

(D) (A) 2 (B) s uaL Al

ucls ai, 21 AR AL A% (A2 83591 [Bax (World Rabies Day) Goaumi 2ud 8. 1 au-il Yvy
[G2uR (Theme)........... 2!

(A) 52, 835 2, 1l (Dogs, Rabies and Vaccine)

(B) 835 - 4dRl, A& (Rabies - Dogs, Protection)

(C) 835l - MY w1 A& (Rabies - Fear and Protection)
.@,sscu - oy A8 Azl (Rabies - Facts not Fear)

A dUL GI tag tuoid 1AL U5 59 Ad/Ad2A diou Ad AL 97?
1. Alwd Ael — A%

2. %l — snum

3. 451 — sales

(A) 1,24 3 (B) WA 2 i1 3

(C) WA 1 44 3 @ 12112

“The Battle of Rezang La’ -UM Yds A .......... yeaui 120 AlRsiN ygdlRdig asi 52 97

(A) HIRd - WSl Y, 1949 (B) MIRd - W52l Y&, 1965

@ e - A0y, 1962 (D) *URd - WlBir ytu, 1971

A Houad, MIRAlA Uy AL HE 56, C-295 mw URaAg Bsu HAAU HIE .......... 2 A SAVUR
SAER sUl 8.

(A) 22 [aa @ i

(C) x4l (D) A4RA~3

UNESCO gl2L 1121 U5l su1 282 1 (A2 yas A%l (World Book Capital) d<l5 dild sauui
2y ?

.M&Ql, Q- (Accra, Ghana) (B) 62&%&, Q-
(C) $+EIR, MR (D) £, UAE
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009.

010.

011.

012.

013.

014.

015.

016.

017.

018.

019.

AURAT, .o %4 ¥ ‘The Fédération of Internationale de Hockey’ (English : International
Hockey Federation) -l 21 aug) -l AQUfA-U a¢s su (Under 21 Hockey World Cup)d, 4%
o, ¢ ?

A) Bedl (B) sau2s

(C) 31 @R

International Day of Sign Languages, 2021 i Huy (@202 (Theme) 1A WA sul 9?
(A) We sign for the voice .We sign for the human rights
(C) We sign for the world (D) We sign for the victims

@Rl DA A4 56 Su-lld AuALYR vild-Ul HIRdL AdUAH CO, - capture and utilization Wl-2-l
sl auell scumi sudl 972

(A) 231,92, (ONGC) (B) 384 (GAIL)

@:2 244 (Tata Steel) (D) x1e18]l WaR (Adani Power)

A1 U4 sul 2o Shanghai Co-operation Organization¥i 941 514l Ag a3 oAl 9?
@< (B) UAE

(C) [Rouy (D) Bl

MR - SmstfQdl [guallu el suud ‘Samudra Shakti 2021° o Alof AW A ........... vid
Alony.

(A) Ws syl (B) HaussL syl

@< sy (D) bix$21 ygy -l

gl A Ul sy At sidr-l vidl 0 A © ?

(A) s1¢l opou- (B) 8w

(C) s12d® @)iva

AAAUA ... 290 vuddl Finance Workshop #ufl 2uda €.

@02 (B) wedl

(C) AM-u (D) W3R

uLYR - SIUAL FUIAA (Stone - Cut Reservoir) EX I vl woll 2uda 69,

(A) Yrsl23l (B) sidleuourt

@-iadx (D) W

[Rigullall 2izgld 21 dl2 s 4ld a2 You astad sul edl ?

@Ry v 2izgld 28 ¢l i dAlRs qrgla wla dl

(B) Ry vlal 265(a 2l i Wl el sl dles Asld 21 el@gin (Sacrifice) Hi Hirdl sdl.
(C) [Rag vllall sl i 4 Heea 2iudl 8dl s dles AglAn 4 A s 2w sd.

(D) GURisd WA 2isu Al

Rl Slagia-u AeHHE (A2t dirRigR adls DA WA su qld opes o 1A s 8 ?

(A) saallddur (Avalokiteshvara) .ﬁ';lll (Maitreya)

© ALSUR (Lokeshvara) D) ysuild (Padmapani)
A UL 53 1 Ao 51 sHIGAR O ?

@:is2d - g - Aau (B) AHLA - AsAWA - Ad~y
(C) AN - Ay - AsAAR (D) 2AsAAA - A=y - ALY

BDI - MASTER | 2 [ P.T.O.
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020. QA U4 5y deu i wHdly 4 (Classical dance) el ?
(A) 55 (B) sasdl
(C) adlu 1 (Sattriya dance) .°Rf’{l
021. R MIS YR .......... U [Qlendm 8.
@101, 2seim-udal, e (B) 2125, 2aelH-ollof, AYsILtd
(C) 21208, GEIHL, Yo (D) 212U, AYSIL, EE A
022.  acdefl AL A%Y 4H (State Religion) .......... Sl
(A) S @i
(C) dwaq (D) BuRisd WA 2isuny Al
023. e AL QUASI g SaAsi2 [Bea vid YA 42 [Rmie 2y ¢d.
@ (B) W&
(C) YRHIR (D) BuRisd WA 2isuny Al
024. eadluidlgu.......... UL UASI ERAU GULHAUNT UL Sl
(A) 4 A% Al (B) Rt
@3 (D) “idouR - udal
025. DA A4 53 1 ar1dl APBisil agaual 4as 6 ?
(A) tifl-un-ll 953l @-z1:l Branst
(C) “RQL &UiR (Kharan Bapor) (D) 2082 44 82
026. R AUy (e (gl A W4 sy [Qany/sa Q- a8 ?
1. o0y HlEg [Anin g eode gL sRami 20y g,
2. 20y (22 4 [Anix iR Al el sami 2ue ed.
3. oy H[2R 2 cug gl 518 pudy 9.
(A) WA 1 244 2 @2 n43
(C) WA 1 4 3 (D) 1,2 ¥4 3
027.  2uadtAwda (g QA U4 sy [Qa-ysa [l a8 ?
1. Al ALl g3 YR 2 21a31 was gudvR Al sdl.
2. QR0 APRUHL AR S AURBIE AHRAY UL
3. Aagorrl ‘oiy Rianell’yi vealday wel vid an1e [Asi2 Hl2l Gedu s34 .
@123 (B) WA 2 ¥4 3
(C) WA 1 ¢4 3 (D) WAL 1 ¢4 2
028. Al ALl puRre Wil YAHIA il Azu-l yeustd Al ¢dl ?
(A) M wa A% (B) [Aorudig A-u A%
@22 clirg ulagiz %y (D) £l ol Ar252 AR
BDI - MASTER | 3 [ P.T.O.
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029.  -llA- WS su1 20 24 UadHL (modern) AL [RRud € ?
lLdlag 2.3y 3.ouuadl 4, ®dldAd 5. 2AUR (Ropar)

(A) WA 1, 2, 3 ¢4 4 B)1,2,3,44145
(C)HA 1,24 @ 1,203
030.  elBw orRani 2ue usna-dl Yless suaai-l ug 1A U s g sa was au e ?
(A) [Asrulec usal (B) yasll usal
(C) ya3ell ollod @ sz ollon
031. DA WA s AMAUA cudul H22 Sl su-ll-u - 2158512 (monopoly) - -Uoie sul ?
(A) Regulating Act, 1773 (B) Pitt’s India Act, 1784
@ charter Act, 1813 (D) Charter Act, 1853

032.  NAUUL sy / s 2 1857 -u [dwa-dl [sndi-u siel s ?
1. 519302 2 A AN [Quaan sondl sami uee 530 edl.
2. [l cuRd-L 245 &atia ([Quaqui) euot - dlul,
3. GuRd [alas gxiui [dua e isanHl A edl.
(A) Ha 1 214 2 @2 n43
(C) WA 3 (D) 1,2 ¥4 3
033.  HSLHL A glRL vt vigdl adl ARUAS S UL Y $1% 8, ?
@z 51 usau 9ai wat adladlda g il wdya-l Gaell yaddl e 2udl - ¢dl.
(B) adladldat 2 derndaui sl Heicl angandl eud s31 gdl.
(O) (A) dl (B) bid
(D) (A) 1 (B) 215Ul ]
034.  Udld Hen His Haldu 121 19094 54 AdHIAUA A3 SAHL 2 ¢ ?

(A) 4 Sl (Free India) (B) -id &1 (Nav Bharat)
© Seflurg-2 (Independent) .C-[ISQ (Leader)
035. 9Ll ABAWA B35 vl (Zafar Khan) 24 AR d dudl adAadl sa12 08 s3l edl ?
(A) AABEL Wlagru Yoy tue (B) HSHE [Bil duavi-i Yey bule
@2l u2 AR 2usmw oue (D) 532 AU WALSL ERULA
036. 220l 3L LA DAL WAS 519 Sl ?
(A) HEHE sHlevin-iln (B) HSHE Gi81guUI-Aln
(C) HEHE YA @) s4e nsivavinioo-An
037. Ao Sl dll 22 2 Salrll AVIHHL SAAAL 9 dH S,

(A) A9l International Monetary Fund gl2L Aletii 20dd] Al W sag siu.
@5l udl din ur cnoll ysasll s w2 ual Gel-u da 3l Sl

(C) ARIERL IR Al Al AU ASIL 2L G512 SAUH Ul Sl

(D) -l eusl 8l a1 ) diq Gur (A ols vyt GUL Qe £ Adl i,

BDI - MASTER | 4 [ P.T.O.
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038.

039.

040.

041.

042.

043.

044.

045.

“Hot Money” 2A6¢ WAL A .......... A AR WS GUURIHE Ara 8

(A) A48 + RBI 18-l 2-uHd

(B) Net GDR 3lel

(C) Net [agall ucua s

.[&é%ﬂ VREUHA ASLLL (Foreign Portfolio Investment)

WTO uttld 2AUH4AR Most Favoured Nation (MFN) $44 EX R - [Asaid 2utnlRd 6.
@21 @23 516 derua dl

(B) A2l AR Mg ™I

(C) st ¢4 [a2ellail a4 [Asies (Differential) AR

(D) Al il U s AHIA ¥ 5ld

Brent Y515 A .......... A1 AsouAAL S,

(A) Copper future prices (B) Gold future prices

.Crude oil prices (D) Shipping rate index

auRd DA U s e wad) daadla dlousil sl 35 9 ?

(A) USA @ ussr

(C) 2izgdlu (D) %4+l

Al W ugil Anauoudl (il ield=a-l would- 22 tuRdld AhdaAn .......... a<ls awll
ASIA.

1. [Qsiuslla weld (Developing Economy)

2. (30-12@ (Rallgd) 2= (Emerging Economy)
3. [ge12d »1dd=A (Dual Economy)

4. [5{'1@[‘3[ 22 (Non - Agricultural Economy)

(A) WAL 1 241 2 @1, 2013
(C) WA 1, 2,3 ¢4 4 (D) WA 3 1A 4
A0 WA 53y (At ue ) ?

(A) MuRani sRA 51024 () Bg 2 1A 2ABa Yl 04 ©.

(B) MRdHi [l Hell (Slack) g, 2 4 dl vis2ieR Y-l slu 8.

@ ani swarl g R Al wiowre YA slu 8.

(D) GURisd WA 2isu Al

AAN AL 56 AlAAA @y Gedlor & e Mogargail 2uR(fd Avian) susidan g sa-ll Mam 5317

@1 A uMla (B) R AR

() -uus ulld (D) BuRisd WA 2isuny Al
RURAL AL oL AL AL A WA s 2 Awgudla D azsi € ?
1.61532

2. Y5d oo Wile dARL (Open Market Operations)

3. N8R gal

(A) 1,2 4 3 (B) WiaL 1 4 3
@112 (D) WA 2 21 3

BDI - MASTER | 5 [ P.T.O.
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046.

047.

048.

049.

050.

051.

A1 Ul s uaal (siicudl) (Measures) 2 A dAHE ALRL Y614l Al 529 ?

1. MY 615 (Central Bank) gi1 %+l WAl a513l Al (Securities)dl wilel
2. %idl IRL AR BisUi YL 534 AARL (Currency)

3. ASIR I WY 615 Hidl sAAA BRAALEL (Borrowing)

4. HeR9 615 gIRL Bl U251 R0 (Securities) dawat

(A) "= 1 (B) WA 2 i1 4

(C) WA 2,32 4 @143

A2 Y4 s [Qannl ucn €97

1. NSSO 712, 514 YasL (Iabour force) Hi Adl Alsi-L AHIA A1 & 5 il 511 AL 8 8.
2. NSSO AR, 513 Y48l (work force) Hal dlsl Bedwt 53 €9 FHA AU WAL B,

3. NSSO AR, 610Ul 2Aal &9 F2il AUl 2wl asdl .

(A) WA 2 4 3 (B) WL 1 211 2

(C) WA 121 3 @123

A2l-u WA 56 duaflu alo-uni ol saidld’ Yot 2 2uey 8d ?

(A) wiad @2

(C) Aal (D) usdl

AL WA 56 oustd 24 HIRAHL Tenancy Reforms (A3 s01on A6l yaRRwy-l [Qgud 4l ?

@zl wuiemid Yl (B) Lotz auaonou-l yau
(C) Aol austd [Ratzey (D) Gu-ut U4l 25 ua -l
yedl 24514 (Perihelion) AdRA........... AR gl 69,

(A) Y [2al 5 2R Y-l Us1AA dA3U 5591 AU H5AT U U3 8.

(B) 2Adl a2t 3 % dlu arui o €9,

(C) dl [2ax 5 1R [2ax 24 Aa-l donsd a1 Slu 6.

@il Barn 3 2uR yedla -l Alell 15 €l ©.

oA A%UA AU[AS (Physiographic) @Rl sueid 1A Ul 5y [Qaiq Aeu 97
1. ®uis (Mainland) 529 A7 2 3 5249 &A1 6] Yo [Acull €.

2. W i gla ornanl gdlu (Tertiary) w35l dney[# (Basement) 2 gvwidl slauedls wis
EDETEN ] (Trap) 6.

3. Allol[as d orAdL vis ¥ AsH 8.
@122 (B) WA 1 241 3

(C) WAL 2 211 3 (D) 1,2 ¥4 3

BDI - MASTER | 6 [ P.T.O.
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052.  9Rua-dl azdl aial, 20110 Aecini 2o A (A2 A1 WA 53 [ / sai Q- we 82
1. azel o0l ucls Al (54 21 308 lsaxi-l ¢dl.
2. A< 11 Wl %Al 2Rl Uls 1000 YU A 5H 919 24 979 il gl
3. YSER ALERAL €2 69.14 251 Sdl.

(A) WAL 1 214 2 (B) "= 2
(C) WA 2 21 3 @143
053.  NAUUA 5y 2 cuRad Alefl Hig cumla o 697
(A) Sino-Tibetan .Indo-Aryan
(C) Austria (D) Dravidian
054. 2001 ) 2011 eRu-L DA AL WA 501 AU Rl e A(RER Al al?
(A) H8IRIZ (B) uWlEm sioun
@:2 (D) alderug

055.  Hasulldl vidl (gl &l U4 £ [Qanqysan (A ey dl?

(A) aRiel Hasll (Rainary Groundnut)dl vidl #12 Allol(as 3Rudl 3 suy 2 swA Bl o
Sl e,

(B) Hasull-l s vildau £ 2 [Suall denella Slu 6.
(C) ARzt 2a-il wasull-l alest (Miel Gautes uga) .
@050 Rrnou-l ssgui Gousarmi »ud 8.
056. -l U4l 59 €l Al Qisl ¥NAAS (Catchment area) (A1 Hd ©97?

@ (B) “MEL
(C) anll (D) 5193
057. DA UL 58 Al ulou dd A3 «ell?
el Beaaar
(A) HEL — Asd yddwo

(B) ARUAL  — uacd]
(C) awdl — AY3L
@ouicedl - ydme
058. DA UA 58 Al ulou dd Al 4dl?

AUHIH 2
1. lAlan — il 25321 (Nallamala Hills)
2.HSIRUR  — Al 253024 (Satmala Hills)
3. YR —  Hg1ga 25312 (Mahadeo Hills)
(A) WA 1 (B) HiAA 2
@2 n43 (D) WA 1 241 3

BDI - MASTER | 7 [ P.T.O.
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059.

060.

061.

062.

063.

064.

065.

066.

067.

el AU WS s Precnstini Gua sl2oidla araion ui-vz ol sal vl 69?

@121, a8 24 sin (B) AUGIR 5161, GIrUASI6EL 2 HS AU

(C) RAASI2, AHARAR A MUATRAR (D) 21Ra¢dl, e1sie A asigl

el A WAL 56 2neigafla 21 dloulas uR R swa-i Gauen 12 xg 50 97
1. 21° A, 9l 30° A, -l a2 Al

2. 50-75 AH @l aue

3. 2ue sl (Deep Black) gl

(A) WAt 1 (B) H1A 2 ¢4 3

(C) WA 1 41 3 @:. 223

Url.......... H QUL 97

.Uniform Resource Locators (B) Uniform Resource Locations
(C) Universal Resource Locations (D) Uniform Reserve Locations

D2 UL 54 A GURAT], AdUAH UANGL WS- (Launch Vehicle) €97
.Satellite Launch Vehicle-3 (SLV)

(B) Augmented Satellite Launch Vehicle (ASLV)

(C) Geosynchronous Satellite Launch Vehicle (GSLV)

(D) Polar Satellite Launch Vehicle (PSLV)

IPV6 address 121 GUALHL AL 2adL bitsl vl .......... .

(A) 32 bit (B) 64 bit

@ 128 bit (D) 256 bit

sizizde uell-i gH A1 U4 su1 dcanid) ot sia e ?

(A) Q@iﬁ{lﬁw (Alluminium) .QQ'{MH (Selenium)

(C) ¢ilRuy (Barium) (D) 5flum (Caesium)

gatl v1aear-l 1ull wRRulA qiadl SHranl - Ul sul [ltsy ary gw ad uas 9?2
A) Rflun B) [Rai-

(C) 2t @::i

AA WS 56 AR AlRS v 20012 2l Wl sustd (Cornerstone) 2Ax uHIR, [R:a1-l 501
udlt W2 2uagus efRule i »ud 97

(A) CTBT @ et

(C) FMCT (D) PTBT
A WA 53 Bells Saar du- Ald 8 w1y Ad 2Asig el ?

1. 42 Udld ¥dls a1 — anuld da

2. ol Yél ¥dls Sual — A (Algae)

3. Al Qélj gdls SuaL — (Jatropha)

(A) HAt 1 @2 2143
(C) WAt 1 211 2 (D) 1,2 ¥4 3

BDI - MASTER | 8 [ P.T.O.
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068.

069.

070.

071.

072.

073.

074.

075.

.......... 3 Green House U 1201 o4 97

(A) AAIARBAAL AUHIAHE 82131 (B) UALARBLAL AlUHLAHL AIRL
@ .2 wdrarag DA A au ag (D) GuRisd U4 2isur A
HOUHA 2R A ... [alﬁfsd (release) $3 9.

(A) B Rays (B) R Rays

(C) X Rays 21 B Rays .ﬁﬂdﬂf’{ﬂq [als@
{d25d (Infrared) 2 €24 (Visible) Gus 9ol .......... el 530 A3 69,

@il S w1 Gl sl s2a-dl Qe

(B) &l 7 o5 calevil a2 dastad 158l saul L.

(C) Cloudseeding (et 1) {12 U1y cagviid vivicusdl dld.
(D) ‘A’ 24 ““ogell”’ Il a3 dsld 8l sal .

DA A4 54 A vi-215[2 51 vid GuRAT, s1uHl A2 YA S 97

(A) didu (B) 8443

(C) o=l @ -0

Raudd.......... NGEIEE

(A) [Rsa 214 o (B) %d ¢ Aiel

@ Rsa 2 sifhan (D) dity 27 sifHun

1541 uRU A .......... ol A3 i weusly anl e 532 2 2y AwRuSlA cuoidi-l Ariiugl
(devolution) HI2 GLAMBU $3& 97

@ 3 ik, 2020 (B) uddl x\Ma, 2021

(C) usdl »ilha, 2022 (D) usdl »ilha, 2023

-

2lril ual22 Ysteria du-l Geaiugu- au-L ssHui sl
1. AU A Yool A%,

2. HlnRan Wlen 214 *IRAY

3. NOTA (None of the above) ?#318\1

4. A UR, G A HIRA U-

@12 4013 (B) 1, 2, 3 ¥ 4

(©)1,4,2 %43 (D)2, 1,4 %4 3

A WAL 56 2AUS2L AUEA vIA cAgHA 27 AL AH[Afl Yl asu © ?
1. Aueui Aopdlg Walia

2. AR5 - iugH (ulf‘?-l - acquisition) 241 AHWA (termination).

3. Aue 2 A%l -l el

@1 (B) A 1 241 2

(C) WAL 2 4 3 (D) 1,2 ¥4 3
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076.

077.

078.

079.

080.

081.

082.

2ell UL UYL dAlS UAE Al HIG H{HIRRIML 5O Austa-l Gedv SR >0dQ 8 ?
(A) curdla adladl Aaiui gial AdA

(B) duA adl Ae1dd-l afld a5l ML 2O 5 Al ™A Sial AS

(C) 35 il au yul 53¢ ¢id) Al

@)Gurisa WA 2isun 1l

MHRA AR AN, 1935 Government of India Act, 1935 i [Alre qai sw e ?
1. wilds @nudl

2. 54l [gyell suauq ueald

3. A0l gyl uan uealadl uoel

4. tusld AMA &L, WldiL (Retention)

(A) WA 1,2 24 3 (B) WAL 1, 3 4 4

(C) WA 2,32 4 @123 x4

-\

oL (7341 YriRL) 2AMAUH 1992, 5 % eaHi daadl 19 A2 Wcl8d s Lid 4d 8 d-
(Agl DA-u WS sy (A Ay el ?

@ vualor afalavi 2a-u

(B) A% 42ell U drus yauasdl 2f2ellai 54l

(C) A% iy~ -

(D) UAAAHL dHIH G651 Ut A28l gl uie 2dd alsauidl ardl
N AA 54 A Ul 14U YOEUESR Sst 2ud €9 ?

@120 212512 219 25 A ay AUl aA [Qae

(B) AAEA SISURL A Al A qnuA™LAl 2ellzil 2450 [Qae
(C) MR URSIR 2 5% WA ugaL aA-u [Aaug

(D) & vl ue azdi-u [Qae

RURAAL A2U[A 2 HAlH 3N Q2R AL Madun Aeii ........... AL oo grau alad 6.
(A) 4241 virRelly Y A@MRan @ 14+ vl g wERuu
(C) 4841 eitellu yau 2AEMAUH (D) 5441 eitRella YRl 2EMAUH

WA 2007 Hi AR National Commission For Protection of Child Rights (NCPCR) CX IR
s suns a5 valRia 52 6.

(A) 0 2l 10 -l auoga-l (B) 1 ¢l 12 au-l auega-l
(C) 1 4L 15 anil quagau-l @o =0 18 il auogadl

GURATL GLHIRRLAL $UL HULRLHE AL BV, SAUHT BUUL 8 5 %Y B HUIRAL AHA NS AH w25 WS
A RLURsAR Al srind) 2uuarl v s’ ?

(A) @ 11T (B) M1 V
@cvo v (D) MWL VI
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083.

084.

08S5.

086.

087.

088.

089.

090.

2l WSl 5y you uloy Ad A el ?
(A) bigl ucugl s (Habeas Corpus) : A$148:UR 1l 8us3A ussi? 6,
(B) WAvY (Prohibition) : Al AE1AdIA du-l ~uugAd) o1l sidadl s AS 9.

.‘R‘-ué%l (Mandamus) : -1l AELAALA UssIEl asidl (Cannot be addressed to inferrior
Courts)

(D) (8512 Y291 (Quo-warranto): AR5 SIEIA AR 51ULUR N AR SAUMT 2 d-ll AH U SRUHE
219 9.

A=A UA 59 Alald 21 Apuacuddl (@2 (Exclusive) a@ld © ?

1. w829 (Subordinate) [l Auia (Legislation) Aol afla.

2. A1 iyl (Government Assurance) 46itl alld

3. AMueq (é"{él) u ‘j\_}séll watl il afla (Committee on papers laid on table)
4. 08 Gusul Aoidl AMnla (Committee on Public Undertakings)

(A) 1,2, 3 24 4 (B) WA 2, 3 i 4
(C) WAL, 324 @ 1,2 013
AYsa A Ran ... U AY Gauni »ud ©.

@240 iisior (B) 3130 25262
(C) 18] ™R (D) 10l RAwR

AHl5W 6x?  23/3x 60 0 ol G3a sue?

(A) 53, 43 # @
(©) —ﬁ, —g (D) BuRisd W4 2isuny Al

=\ oY =\ =\

6] ALUALAL AU 132 1A 24 AL IRITIR 4 1 7 SlA dll o 61 AvAlAi-l A L1 Sedl sal?
@ (B) 21
(©) 35 (D) 42

25 [Aslal »ia: [(esal (In Radius) 6 A4 9. 2 Bisia-ll uR (Rl 32 Al Sl i d Bisiag sasn seq
99l?

(A) 192 &l Al (B) 64 «ul. Al

@)oo 2. 3 (D) GURLsd WA 2Asu ]

25 15 85221 HelHi 5 AL 24l aruie ud ©. dl uda welld adsn 524 29 ?
(A) 250 an Hle: @750 - Qe

(C) 7500 a- Hle: (D) Buisd U4 2isunt 4l

-

Al 20U E Arupii-l HeuRY sedl 49?
1, 23, 4, 29, 34, 10, 45, 78, 97

@20 (B) 32.5
(C) 39.5 (D) Buisd U4 2isunt 1l
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091.

092.

093.

094.

095.

096.

097.

098.

099.

100.

. Y 3 Y oY 4 by o . Y
25 [Qenefl 215 Avard " ol opareuq vied (el 38 Rl 8. el 2 AL AL 251Ul S2ell aal?

(A) 49% & 77.77%

(C) 81% (D) BuRisd W4l 2isun Al

w5 21 50 Hle/A 53+l 33U €l 89, dl dn 75 (5,30 2idR studlL Sedl AHu a?
(A) 20 M2 (B) 24 [AlAe

(©) 32 A2 @ Guzisq W4 visuw

3L 25,000, 4% Avi 3 aul W2 Asa(By g ysaEll 24 cuo wnel?

@ . 3.121.60 (B) 3L 3,211.60

(C) 3L. 3,221.60 (D) Buisd U4 2isunt 1l

100 ol 31 350 Ul wLlecumi 2ud €9, 2 o1aL 120 48 3(WA 39311l HId AT 20d 8. dl 5L
5 qsanll estudl s2dl aal?

1 2
(A) 145% B) 142%

(©) 18% (D) Gu-uL WSl 2i5 waL Al

HA 27 YU s UAAUHL 3 2 2 L Rl MEId] 52 6. A §A 151U 5% F2dl 54 el %l
SIU 24 JHAAL ML 31. 2,565 S1A dl §A 15l 524l 2ul 8A?

@ 4,500 (B) 3L. 4,800

(C) 3L. 5,400 (D) BuRisd U 2isuny Al

D2l el 2uoudl ue sy sal?

7, 26, 63, 124, 215, 342, 2

(A) 411 (B) 431

(C) 481 @-u
25 W Godl YA drs 400 Hl2: Fed e e d uldidl siefl dzs aull 300 {12 Feg 04 8. di d
yo 2l 56 [BaHi 21 Sedl g2 8al?

(A) Bria-yd, 350 Hle (B) elaai-ud, 450 22
@G2-ud, 500 0122 (D) GURLsd WA 2su ]

30 Al5axil 5 sasHi 60 gzl udl a5 6. A d U 5 alsd2il s1u il ¢ dl 10 scusHi s2en gal adl
as2?

(A) 90 @ 100
(C) 105 (D) BuRisd W4 2isun Al

il 2(x—3)—(5—3x)=3(x+1)—4(2+x) Sludl (2 _q A Bud 324l 29?

(A) 2 (B) -1
@o (D) GURLsa UH A sy Al
A WA 5 2Ava ywlaol afl?

(A) 1022121 @ 1021221

(C) 1212201 (D) 1002001
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101.

102.

103.

104.

105.

106.

107.

108.

The magnitude of electrostatic force between two very small static electrically charged objects,
separated by a distance of 3 m is 10 N. If the distance between them is doubled to 6 m, what will
be the magnitude of electrostatic force between them according to Coulomb's law?

(A)20N (B)10N

(C)5N @:sn~

Which of the following is not a vector quantity?

(A) Magnetic flux density (B) Electric flux density
.Volume charge density (D) Magnetic field intensity

Which of the following equations represents boundary condition of conductor-dielectric? (where,
D, and Dy, represent tangential and normal components of electric flux density ¢ p)’°, pV is volume
charge density in C/m3, and pS is surface charge density in C/m?)

(A) D =pV (B) D;=pS
@p.-os (D) Dy =0

If each branch of a delta circuit has an impedance of /3 Z , then what will be the impedance of

each branch of the equivalent star circuit ?

[ YANE) (B)3Z

©3.3Z MD)Z/3

Which of the following statements holds for divergence of electric and magnetic flux densities?
(A) divergence of electric flux density is zero

.divergence of magnetic flux density is zero

(C) divergence of both electric and magnetic flux densities are zero

(D) These are zero for static densities but non-zero for time varying densities.

In a uniform electrostatic field, what is the angle between electric field lines and equipotential
surface at the points where they intersect?

(A) 0° @oo°

(C) 180° (D) 120°

The energy stored in the magnetic field of a solenoid, 30 cm long and 3 cm diameter wound with
1000 turns of wire carrying a current at 10 A, is .

(A) 0.015 Joule @o.15 Joule

(C) 0.5 Joule (D) 1.15 Joule

The divergence theorem gives relationship between
(A) line integral and surface integral (B) line integral and volume integral

.surface integral and volume integral (D) two surface integral
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109.

110.

111.

112.

113.

114.

115.

116.

117.

According to Maxwell, which term is to be added on R.H.S. of the equation v, FI _ 7 for the

time varying magnetic fields?

— —
D OB
@ " ®) 2B
ot ot
— —
A oH
© 24 o) 22
ot ot

NOR gate is also known as universal gate because

(A) it has the least propagation delay

(B) it is available every where

.all the other gates can be implemented using it

(D) it is easy to process

Which of the following is equivalent to a digital logic represented by AB + A’ + AB’ ?
@ (B) 0

OA D) A

Minimum, how many NAND gates are required to implement a NOT gate?

@ (B) 2

©3 D)4

Which of the following digital logic equations follows the De Morgon’s theorem?
(A) (A+B)’=A’+ B’ (B) (A+B)’=A+B

(C) (A+B)’ = AB @n+B=AB

In a combinational circuit, the output

(A) depends upon the past output

(B) depends upon the present input and past output

.depends upon the combination of present input only

(D) does not depend upon any present or past input

In a sequential circuit, the output depends upon

.combination of present and past input  (B) on past output only
(C) on present input only (D) none of the above
In a master-slave JK flip-flop,

.the slave follows the output of the master

(B) the master follows the output of the slave

(C) both work independently

(D) none of the above

Which of the following shift register will require minimum number of clock pulses to give the
output?

(A) Serial In Serial Out (SISO) (B) Parallel In Serial Out (PISO)
(C) Serial In Parallel Out (SIPO) @) raratiel 1n Parallel Out (PIPO)
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118.

119.

120.

121.

122.

123.

124.

125.

126.

127.

An 8-bit converter is used for a DC range of 0 to 10 V. What is the weight of LSB?

(A) 9.77 mV (B) 19.5 mV

.39 mV (D) none of the above
What is the quantising error of a 10-bit A/D converter?

@o.1 % (B) 0.2 %

(©)0.4 % (D) 0.8 %

A half adder is a circuit.

.Combinational (B) Sequential

(C) combinational as well as Sequential (D) none of the above

The binary number 10101 is equivalent to decimal number
A 19 (B) 12

(C) 27 @::
Perform binary subtraction: 11001 - 10001 =

(A) 10000 (B) 00011
(C) 10111 @o1000

For speed control of DC motor using single-phase half-controlled rectifier, armature voltage
control gives speed

(A) above rated speed in forward motoring mode
.below rated speed in forward motoring mode
(C) above rated speed in reverse motoring mode
(D) below rated speed in reverse motoring mode

A three-phase full wave diode bridge rectifier is being fed from an ideal three-phase AC source.
This rectifier is supplying to a pure resistive DC load. What is the relationship between the
frequency of input AC supply (f) and the frequency of output (load) voltage ripple (fp)?

A fo=r1 B) fo=2f
©) fo=3f @ -
What should be the pulse-width in single-pulse width modulation scheme based single-phase

full bridge inverter, so that the third harmonic component can be eliminated from the output
AC voltage?

(A) 30° (B) 60°
@:20° (D) 150°

In a single-pulse width modulation scheme based single-phase full bridge inverter, the pulse-
width is 120° and the input DC voltage is 220 V. What is the RMS value of output AC voltage?

@179.63v (B) 254.04 V
(C) 127.02 V (D) 185.04 V

A step-up chopper has an input voltage of 50 V and the average output voltage of 150 V. What is
the duty cycle?

@):: (B) 3/2
(©) 52 D) 15/2
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128.

129.

130.

131.

132.

133.

134.

135.

136.

Choose the correct statement.

(A) Both BJT and MOSFET are voltage controlled devices

(B) Both BJT and MOSFET are current controlled devices

.MOSFET is a voltage controlled device and BJT is a current controlled device
(D) MOSFET is a current controlled device and BJT is a voltage controlled device
The ripple factor of a half-wave uncontrolled rectifier is

(A) 2 @121

©)25 (D) 0.48

Holding current of a thyristor is

(A) equal to its latching current

(B) more than its latching current

.less than its latching current

(D) either more or less as no relation exists between holding current and latching current

For a single-phase half-wave, phase controlled rectifier with a freewheeling diode across the
load, the instantaneous output voltage

(A) is always positive .may be positive or zero
(C) may be positive, negative or zero (D) may be negative or zero
The terminals of a power MOSFET are

(A) collector, emitter, base (B) drain, source and base
.drain, source and gate (D) collector, emitter, gate

Which power semiconductor device is used for speed control of small single-phase induction
motor based domestic fans?

(A) single SCR (B) BJT
@ 1riac (D) MOSFET

After triggering an SCR, it starts conducting a constant forward current. What will be the effect
on the SCR current if the gate pulse is removed without changing any other operating conditions?

.The SCR current will remain the same

(B) The SCR current will immediately fall to zero

(C) The SCR current will reduce by 40 %

(D) The SCR current will initially increase and then fall to zero

A silicon controlled rectifier (SCR) is

(A) a three layer three terminal device (B) a three layer four terminal device
.a four layer three terminal device (D) a four layer four terminal device
For protection of parallel feeders fed from one end, the relays required are
.Non—directional relays at the source end and directional relays at the load end
(B) Non-directional relays at both the ends

(C) Directional relays at the source end and non-directional relays at the load end

(D) Directional relays at both the ends
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137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

The arc voltage in the AC circuit breaker
(A) lags the arc current by 45° (B) lags the arc current by 90°
(C) leads the arc current by 90° .stays in phase with the arc current

What will be the plug setting multiplier, if the fault current is 2000 A, the relay plug setting is
50% and the CT ratio is 400/5?

(A) 25 (B) 45

(O) 50 .None of the above

The boundary of a protective zone is determined by the locations of

(A) circuit breakers (B) Transformer

.CTs (D) none of the above

The differential protection of a transformer protects the transformer against
(A) external faults .internal faults

(C) both external and internal faults (D) none of these

Inrush phase-current in a transformer at no load is maximum if the supply voltage is switched
on at

.zero voltage (B) peak voltage

(C) half of the peak voltage (D) 2/3%4 value of the peak voltage
For large induction motors, to detect single phasing condition

(A) the relay shall depend on positive sequence current measurement

.the relay shall depend on negative sequence current measurement

(C) the relay shall depend on zero sequence current measurement

(D) no special protection is required

What is the three-phase surge impedance loading of 400 kV line with surge impedance given as
160 ohms?

(A) 1000 KW (B) 400 MW

(C) 250 MW @ 1000 mw

A pure capacitor connected in shunt in a substation

(A) consumes reactive power and lowers the local voltage
.delivers reactive power and boosts the local voltage

(C) consumes active power and lowers the local frequency

(D) delivers active power and boosts the local frequency

In a thermal power plant, the heat from the flue gases is recovered in
.Economizer (B) Electric precipitator
(C) Condenser (D) Chimney

The steady state stability limit of a power system can be improved by
(A) reducing the faults clearing time

.reducing the line reactance by using two parallel lines

(C) fast switching of the circuit breakers

(D) decreasing the generator inertia
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147.

148.

149.

150.

151.

152.

153.

154.

155.

156.

157.

The surge impedance loading of the line will if the length of the line is doubled.
(A) be doubled (B) become four times

.remain the same (D) became half

Which power plant may deliver power only for brief intervals during the day?
.peak—load (B) base-load

(C) nuclear power plant (D) none of the above

The area under the load duration curves represents

(A) average load of the system (B) base load of the system

(C) maximum demand of the power station .energy generated in the period considered
If the velocity of wind is doubled then the power output of a horizontal axis wind-turbine generator
will

(A) increase by 2 times (B) increase by 4 times

(C) increase by 6 times .increase by 8 times

What is the value of the characteristics impedance of a transmission line with 15 ohm impedance
and 5 mho admittance?

(A) 0.707 @732

(©) 0.577 (D) 1.414

Which of the following is a symmetrical fault?

.Three-phase—to-earth fault (B) Phase-to-phase fault

(C) Single-phase-to-earth fault (D) Two-phase-to-earth fault

Which of the following statements regarding bundled conductors is true?

(A) They increase corona loss and decreases reactance.

(B) They decrease corona loss and increases reactance.

.They decrease both corona loss and reactance.

(D) They increase both corona loss and reactance.

What is the result of Ferranti effect in a transmission system?

.the receiving end voltage increases (B) the receiving end voltage decreases
(C) the receiving end voltage does not change (D) none of the above

In a conventional substation, the lightning arrester is normally placed as close as possible to the

(A) Relays . Transformer

(C) Bus-bar (D) Circuit breaker

Which type of bridge is used for measurement of dielectric loss of capacitor ?
(A) Wien bridge (B) Maxwell bridge
.Schering bridge (D) Any other bridge

An alternator is connected to infinite bus via a short line. What is the effect of changing the
alternator’s excitation?

.alternator terminal voltage will change
(B) infinite bus voltage will change
(C) alternator frequency and terminal voltage will change

(D) alternator frequency will change
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158.

159.

160.

161.

162.

163.

164.

The Series reactors are used to

(A) improve the transmission efficiency (B) improve the system power factor
(C) improve the voltage regulation .bring down the fault current level
The synchronous reactance of an alternator is the

(A) reactance due to the armature reaction only

(B) reactance due to the leakage flux only

.combined reactance due to the leakage flux and armature reaction

(D) none of the above

An induction motor and a synchronous motor are connected to a common feeder line. To operate
the feeder line at unity power factor, the synchronous motor should be

(A) under-excited .over-excited

(C) disconnected from the common terminal (D) none of the above

In a synchronous motor, the V-curve is a graph of

.armature current vs field current (B) armature current vs power factor
(C) armature current vs active power (D) armature current vs reactive power

Which of the following HVDC transmission configurations may cause corrosion of underground/
underwater metallic structures located in the vicinity of the system electrodes?

(A) Monopolar HVDC link with metallic return
(B) Bipolar HVDC link with balanced pole currents
@ Homopolar HVDC link

(D) All of the above

HVDC system configurations usually have cascaded groups of several converters each having a
transformer bank on the AC side and a group of valves on the DC side. Select the correct statement
regarding the connections of these converters.

(A) Converters are connected in series on the AC (transformer) side and in series on the DC
(valve) side

(B) Converters are connected in series on the AC (transformer) side and in parallel on the DC
(valve) side

(C) Converters are connected in parallel on the AC (transformer) side and in parallel on the DC
(valve) side

.Converters are connected in parallel on the AC (transformer) side and in series on the DC
(valve) side

What is the purpose of connecting the HVDC converter valve bridges in 12-pulse configuration?
(A) To improve the quality of current on the AC side

(B) To improve the quality of voltage on the DC side

@5Both (A) and (B)

(D) None of the above
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165.

166.

167.

168.

169.

170.

171.

172.

In HVDC transmission systems, what is the purpose of using large reactors in series with each
pole of each converter station?

(A) To reduce harmonic voltages and currents in the DC line
(B) To prevent commutation failure in inverters

(C) To prevent current from being discontinuous at light load
.All of the above

Which of the following components fulfill the reactive power requirements of the DC converters
in the HVDC transmission systems?

(A) Shunt capacitors on the AC side

(B) Capacitors associated with the harmonic filters on the AC side

(C) Static VAR compensators on the AC side

.All of the above

In HVDC transmission systems, which method is preferred for clearing the DC faults?
.Using the converter control

(B) Using the ac circuit breakers near the transformers

(C) Using the transformer tap-changing mechanism

(D) All of the above

Which type of HVDC link can provide more than half the rated power transfer capacity under
the fault in any one conductor condition?

.Homopolar (B) Bipolar
(C) Monopolar (D) All of the above

Which of the following HVDC configurations is preferable from the view point of the cable cost
considerations?

(A) Homopolar (B) Bipolar

.Monopolar (D) All of the above

What is the preferred operating polarity of the conductors in homopolar HVDC scheme?
(A) One conductor with positive and the remaining with negative

(B) One conductor with negative and the remaining with positive

(C) all conductors with positive

.all conductors with negative

Which property of the underground cables restricts the power transfer capacity of the long
distance HVAC cable transmission?

(A) Series inductance offered by the line .Shunt capacitance offered by the line
(C) Resistance offered by the line (D) None of the above

In the HVDC systems, the transformer windings on the valve side are connected in
.both delta and star with neutral ungrounded

(B) both delta and star with neutral grounded

(C) only star with neutral ungrounded

(D) only delta
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173. Which property of the underground cables affects the power transfer over the HVDC
transmission?

(A) Inductive reactance offered by the line (B) Capacitive reactance offered by the line
.Resistance offered by the line (D) None of the above

6(s+200)
174. 1t F(9) :W , then the final value of f{t) is

@ (B) 9
(©) 12 (D) 0.6

175.  Which of the following relationships express the homogeneous property of a system?
L f(x +xy)=f(x)+ f(x,)
2. f(Bx)=Bf(x)
3. p=f(x)=(1-+)

(A) 1 and 2 (B) Only 1
@ony 2 (D) Only 3
176. If F(a)) be Fourier Transform of f(t) , then Fourier Transform of f(t —a) is
@ F(o) (B) ¢ F ()
(C) aF (@)e™ (D) lF(a))e_jw“
a

177. A control system is a deterministic system, when
.the response to input and external disturbances are predictable and repetitive
(B) the response to input and external disturbances are predictable
(C) the response to input and external disturbances are repetitive
(D) the response to input and external disturbances are unpredictable

178. With reference to the following figures, what is the effect of adding a feedback loop on the gain?

R(s) C(s)

R(s) c(s) - © '
Input Output
H

(a) Open loop
(b) closed loop

(A) w.r.t. the open loop system, the closed loop system gain is reduced by a factor [1 + G(s)H(s)]
.w.r.t. the open loop system, the closed loop system gain is reduced by a factor [1 + G(s)H(s)]"!
(C) w.r.t. the open loop system, the closed loop system gain is reduced by a factor [1 + H(s)]

(D) w.r.t. the open loop system, the closed loop system gain is reduced by a factor [1 + H(s)]"!
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179. Which of the following relationships express a ramp function? (where, A is a constant)
(1) r(t)=o0 for t<0; r(t)=At*/2 fort>0
?2) r(t)zo for 1 <0; r(t)zAt for >0
3) r(t)zo for 1 <0; r(t)zA for >0
(A) 1 and 2 (B) Only 1
@ony 2 (D) Only 3

G(s)=

K
180. The open loop TF is given as s( 54 2)( ot 4) . The range of values of gain K for stable

operation of closed loop system will be

@o<x<48 (B) 0<K <24
(O)0<K<36 (D) none of the above
181. In control systems, the Synchros are generally used as transmitters of
(A) data logger (B) digital data
.angular data (D) all of the above
182.  The signal x(¢)= Acos(wt+ ) is
(A) an energy signal .a power signal
(C) an energy as well as power signal (D) neither an energy nor a power signal

183. What is the characteristic equation of the system represented by the following block diagram?

+ 3 2
R(S)4>®+—P s(s—-i—l) > 3(f+l) > C(s)

6 |

S
@ -2-5=0 (B)s2+2s+5=0
C)s?+2s+7=0 D)s*+2s-7=0

184. A complex signal represented by x(¢)=e’/* is a periodic signal. What is its period T ?

(A) T =ro B)T=r/o
O T =270 .T=27r/a)
18S. A continuous time system is static system if it has .

(A) Output depending only on the present input

(B) No energy storage elements like capacitor or inductor
.Both of the above

(D) None of the above
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186. A system is unstable, which has
(A) Bounded output for bounded input (B) Bounded output for unbounded input
.Unbounded output for bounded input (D) All of the above
187. The output of a non-casual system depends on
(A) the past input only (B) the past and present inputs only
(C) the present and future inputs only .the past, present and future inputs
188. Which of the following discrete signals are time invariant? (n is index of samples)
1. y(n) =x(n) - x(n - 2)
2. y(n) = nx(n)

3. y(n) = x(-n)
.only 1 (B) only 2
(C) only 3 (D)1 and 3

189. Which of the following is a weak Dirichlet condition?
(A) The function has a finite number of finite discontinuities in each period
(B) The function has a finite number of maxima and minima in each period
.The integral of the function over a period is finite
(D) None of the above
190. What is the width of data bus and address bus of the 8051 microcontroller?
.S-bit data bus and 16-bit address bus (B) 16-bit data bus and 8-bit address bus
(C) 8-bit data bus and 8-bit address bus (D) 16-bit data bus and 16-bit address bus

191. How many I/O pins are available on the 8051 microcontroller?

@:: (B) 24

©) 16 D)8
192. How many interrupts are supported by the 8051 microcontroller?
.5 interrupts (B) 4 interrupts
(O) 3 interrupts (D) 2 interrupts
193. Which of the following registers can be used as two individual 8-bit registers in 8051
microcontroller?
@porir (B) PC
(C) SBUF (D) PSW
194. What is the addressing mode of MOV A, 40 in 8051 microcontroller?
.Direct addressing (B) Indirect addressing
(C) Index addressing (D) Register addressing
195. Which instruction does not belong to register addressing mode?
(A) MOV A,R7 (B) MOV RO,R1
@riov A,@r3 (D) MOV R5,A
196. Which of the following instructions is index addressing?
.MOVC A,@A+DPTR (B) MOVX @DPTR,A
(C) MOVX A,@DPTR (D) MOVX A,@R0
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197.

198.

199.

200.

201.

202.

203.

204.

205.

The MOVX A, @RO0 instruction performs

.data transfer from external RAM 8-bitaddress specified by R0 to accumulator
(B) data transfer from internal RAM 8-bit address specified by R0 to accumulator
(C) data transfer from external ROM 8-bitaddress specified by R0 to accumulator
(D) data transfer from internal ROM 8-bit address specified by R0 to accumulator

Which of the following flags are affected by the instruction INC A and INC @RO0 in 8051
microcontroller?

(A) Carry flag (B) Auxiliary carry flag
(C) Overflow flag .No flags are affected
What will be the output after execution of the following instructions in 8051 microcontroller?

MOV A, #55

ANLA, #67

(A) 54 @+

©) 55 (D) 67

To exchange the content of A and R0, which instruction is used in 8051 microcontroller?
@ xcH A, ro (B) XCH A, @R0

(C) XCHD A, @R0 (D) XCH RO, A

Which quantity does not change when you use step down transformer?
(A) Phase voltage (B) Line voltage

(C) Current .Frequency

Which of the following applications make use of a Universal motor?
(A) Domestic Pump .Food Mixer

(O) Lift (D) Traction

If the tariff for electrical energy charges provides incentive by way of reduced charges for higher
consumption, then it can be concluded that

(A) load factor is unity

(B) power is generated through hydroelectric plant
.plant has sufficient reserve capacity

(D) station has more than two generators

While selecting an electric motor for a floor mill, which electrical characteristics will be of least
significance?

(A) Running characteristics (B) Starting characteristics
(C) Efficiency .Braking Characteristics
What is the relation between coil span and harmonics?

(A) low coil span decreases harmonics slightly

.low coil span decreases the harmonics drastically

(C) high coil span decreases the harmonics drastically

(D) high coil span decreases the harmonics by small amount
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206.

207.

208.

209.

210.

211.

212.

213.

214.

215.

216.

Which method provides cash for the replacement of asset at the end of its useful life?
(A) Straight line depreciation method (B) sum of years digits depreciation
(C) Declining balance depreciation .Sinking fund depreciation

As per Chapter 8 of the Gujarat Electricity Industry (Reorganization and Regulation) Act, 2003;
how many members are allowed in the advisory committee?

.Minimum 5 maximum 15 (B) Minimum 3 maximum 20
(C) Minimum 10 Maximum 12 (D) Minimum 20 Maximum 24

Which one of the following is not a necessary condition to be satisfied for synchronizing an
incoming alternator to an already operating alternator?

(A) Same voltage magnitude .Same Prime mover speed
(C) Same frequency (D) Same Phase sequence

A parallel AC circuit is said to be in resonance when the admittance is purely
(A) Capacitive (B) Susceptive

(C) Inductive .Conductive

A Pelton wheel turbine having a rated speed of 300 rpm is connected to an alternator to produce
power at 50 Hz. The number of poles required in the alternator is

(A) 4 &:o0

©)8 (D) 10

Superposition theorem is not applicable for

(A) voltage calculation (B) passive elements
(C) bilateral elements .power calculation
Most of the energy used by incandescent bulbs is converted to

(A) Light energy .heat energy

(C) sound energy (D) electrical energy

Power for lighting in passenger coach in a long distance electric train is provided
(A) directly through overhead electric line

(B) through locomotive engine

(C) through rails

.through individual generator of bogie and batteries

Which Chapter of the Gujarat Electricity Industry (Reorganization and Regulation) Act, 2003
deals with Tariff?

(A) 4 (B)9

@ (D) 12

As per the guidelines set by the government, it is compulsory to set an EV charging station at

every sq. km area in cities and every km on highways.

(A) 10, 100 B)7,39

(©) 1,30 @:. 25

Which one is the best location in terms of power producing from tidal energy in India?
(A) Gulf of Kutch @ Guif of Khambhat

(C) Gangatic region of Sunderban (D) Kanyakumari
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217.

218.

219.

220.

221.

222.

223.

224.

225.

226.

Suppose that the resistors R; and R, are connected in parallel to give an equivalent resistor R. If
the resistors R; and R, have tolerance of 1% each, then the equivalent resistor R for resistors
R;=300 ohms and R,=200 ohms will have the tolerance of

(A) 0.50% (zero point five percentage) .1% (one percentage)
(C) 1.20% (one point two percentage) (D) 2% (two percentage)

The laws of electromagnetic induction (Faraday’s and Lenz’s law) are summarized as
in the following equation.

d di
.e=—d—f ®B)e=L_
(©) e=iR (D) None of the above
Reactive Power is measured in terms of
(A) KW (B) KVA
@ «var (D) KV

Which of the following theorem can be applied to any network, linear or nonlinear, active or
passive, time variant or time-invariant?

(A) Thevenin's theorem (B) Norton's theorem
.Tellegen Theorem (D) Superposition theorem
Which of the following alternatives will be cheaper?

.A 100 HP AC Three phase motor (B) Four motors of 25 HP each
(C) Five motors of 20 HP each (D) Ten motors of 10 HP each

As per the Gujarat Wind power policy 2016, which type of meter is suggested for the purpose of
energy accounting ?

.ABT complaint meter (B) Power factor meter

(C) Maximum demand meter (D) Induction cup type meter

What percentage of total coal energy burnt will reach to end consumer as electricity?
(A) 100% (B) 10%

@-0% (D) 2%

As per the Gujarat Small Hydel Policy-2016, what will be the interconnection voltage required
for transmission, if the plant capacity is 5 MW?

(A) 415V (B) 11 kV
@6 kv and above (D) 33 kV

Which of the following relation is not correct?

%
@ - B) P=VI

P
(C)IZ\/; D) v =JPR

The Biot-Savart's law is a general modification of
(A) Kirchhoff's law (B) Lenz's law
.Ampere's law (D) Faraday's law
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227.

228.

229.

230.

231.

232.

233.

234.

23S.

236.

237.

Capacitors with automatic power factor controller when installed in a plant

(A) reduces active power drawn from grid .reduces the reactive power drawn from grid
(C) reduces the voltage of the plant (D) increases the load current of the plant
Tariff is best defined as

(A) The duty imposed on exporting electrical equipment

(B) Praising the electricity board

(C) A set of rules explaining the pros and cons of using a specific rating of alternators
.The rate at which electricity is supplied to the consumer

Which wire size is suggested for earth wire in single phase 2 KW connected load in India?
(A) 4 sq. mm .1 sq. mm

(C) 6 sq. mm (D) 10 sq. mm

The inverse Laplace Transform of 1/(s-a) is

(A) sin at (B) cos at

.eat (D) et

The tips of the electrodes, for spot welding are made of

.Copper alloy (B) Porcelain

(C) Tungsten (D) Carbon

As per the Gujarat Small Hydel Policy-2016, the small hydel projects shall become eligible for
benefits and incentives declared under the policy for the period of years from the date
of commissioning or the lifespan of small hydel project, whichever is earlier.

(A) 10 years (B) 55 years

.35 years (D) 15 years

The insulation resistance of a cable of length 10 kms is 1 M ohm. What will be the insulation
resistance of the same cable for a length of 100 km?

(A) 1 M ohm (B) 10 M ohm

@o.1 M ohm (D) 0.01 M ohm

A crack in the magnetic path of an inductor will result in

(A) unchanged inductance (B) increased inductance
(C) zero inductance .reduced inductance

In an Induction motor, if air gap is increased then the
(A) speed will reduce (B) efficiency will improve
.power factor will be lowered (D) breakdown torque will reduce

As a part of restructuring process, how many companies were formed out of Gujarat Electricity
Board?

(A) 3 (B)5

@ (D) 10

Data Speed in 4G is

@10 Mbps (B) 64 Kbps
(C) 2000 Mbps (D) 10 Kbps
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238.

239.

240.

241.

242.

243.

244.

245.

246.

Gujarat Wind Solar Hybrid Power Policy was introduced in

(A) 2009-10 (B) 2001-02

(C) 2021-22 .2018-19

Candela is the unit of

(A) Luminous flux .Luminous intensity
(C) Wavelength (D) Electricity

OP-AMPs have become very popular because

(A) they are very cheap

(B) they are extremely small in size

.their external characteristics can be altered to suit any application

(D) they are available in different sizes

Two capacitors of capacitances 3 pF and 6 pF in series will have a total capacitance of
(A) 9 uF @: vr

(C) 18 uF (D) 24 uF

A shunt generator can self-excite

.only if the resistance of the field winding is less than the critical value

(B) only if the resistance of the field winding is more than the critical value

(C) irrespective of the value of the resistance in the field circuit

(D) only if the resistance of the field winding is less than the armature resistance
Which of the following is not the major objectives of Gujarat Waste to Energy Policy 2016?

(A) To facilitate and promote utilization of Municipal Solid Waste as renewable resource for
generation of electricity.

(B) To facilitate and promote disposal of municipal solid waste in more environment friendly
manner.

.To install wind power plants at all the municipal solid waste collection sites.

(D) To help improve efficiency and effectiveness of collection and disposal of Municipal solid
waste and thereby contributing to Swachh Bharat Abhiyan.

Which commission was established due to effect of Gujarat Electricity Industry Act 2003?
(A) Gujarat Electricity Development Commission

(B) Gujarat Renewable Energy Commission

(C) Gujarat Electrical Restructuring Commission

.Gujarat Electricity Regulatory Commission

What is the per capita consumption of electricity in the year 2021 for India?

(A) 200 KWH @ 1208 kwH

(C) 2020 kWh (D) 10305 kWh

Wireless charging of electrical devices work on the principle of

(A) Ferranti Effect (B) Capacitive Charging

(C) Propulsion .Electromagnetic induction
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247.

248.

249.

250.

251.

252.

253.

254.

2585.

256.

As per the Gujarat Wind Power Policy 2016 Document, how much wind energy potential in
Gujarat?

(A) 20000 MW @35000 MW

(C) 1000 MW (D) 60000 MWV

Which of the following lamps gives nearly monochromatic light?

.Sodium vapor lamp (B) GLS lamp

(C) Tube light (D) Mercury vapor lamp

In power quality issues, THD stands for

.Total Harmonic Distortion (B) Trial Harmonic Distribution
(C) Total Heuristic Disturbance (D) Traction heuristic distortion

Hopkinson's test on D.C. Machines is conducted at

(A) no load (B) part load

.ful] load (D) over load

An operational amplifier is basically a

(A) Low gain AC amplifier .High gain DC amplifier

(C) High gain RC coupled amplifier (D) Low gain transformer coupled amplifier

What is meant by wheeling charges in electricity bill?

.The price that power network users pay to transmission asset owners and operators to use
their assets.

(B) The price that power network users pay to generation asset owners and operators to use
their assets.

(C) The price that power network users pay to CERC and operators to use their assets.
(D) The price that power network users pay to use electricity

Which of the following power plant will take least time in starting from cold condition to full
load operation?

(A) Gas Turbine Power plant .Hydro Electric Power Plant
(C) Nuclear Power Plant (D) Thermal Power plant

How many sections are available in Central Electricity Act 2003?

(A) 100 (B) 139

@55 (D) 250

Which agency is authorized to implement Gujarat Solar Power Policy-2021?
(A) GERC @cepa

(C) IPR (D) IRDA

A 60 W lamp gives a luminous flux of 1500 lumen. Its efficiency is
(A) 1500 lumens/watt (B) 25 lumens/watt
(C) 250 lumens/watt .2.5 lumens/watt
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257.

258.

259.

260.

261.

262.

263.

264.

265.

In a residential electrical connection having load less than 5 kW, the following rating of leakage
current for ELCB is suggested.

(A) 300 mA (B) 3000 mA
@:o ma (D) 3 mA
The desirable properties of transformer core material are
(A) Low permeability and low hysteresis loss

.High permeability and low hysteresis loss

(C) High permeability and high hysteresis loss

(D) Low permeability and high hysteresis loss

Given two coupled inductors L; and L,, their mutual inductance M satisfies

@< /L, B) M > (L, +L,)/2

C) M>[LL, D) M=\|L1

While thevenizing a circuit between two terminals, Vg is equal to

(A) Short circuit terminal Voltage .Open circuit terminal Voltage

(C) Net voltage available in the circuit (D) EMF of the battery nearest to the terminals

Energy efficiency is defined as

(A) Energy that escapes in an unusable form

(B) (Energy in bonds broken) - (energy in bonds formed)
(C) The content of energy in a fossil fuel

.The amount of energy extracted from a system divided by the total energy you put into the
system

What should be the power factor for an Ideal Inductor?
(A) Unity (B) 0.707
.Zero D) 0.5

As per the Gujarat Solar Power Policy 2021 Document, the total installed capacity of the solar
PV technology till 2020 was .

(A) 1000 MW (B) 5432 MW

@3200 mw (D) 10000 MW

Which type of wiring is suitable for multi storey buildings?

.Tree system (B) Ring main System

(C) Distribution board system (D) Ring main and Distribution board system

To increase Q factor of a coil, the wire should be
@ rhick (B) Thin
(C) Long (D) Long and thin
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266.

267.

268.

269.

270.

271.

272.

273.

274.

In an Induction motor, the slip will be negative when
(A) Stator magnetic field and rotor rotate in opposite direction

(B) Rotor rotates at a speed less than synchronous speed and in the direction of rotation of stator
field

.Rotor rotates at a speed more than synchronous speed and in the direction of rotation of
stator field

(D) Rotor rotates at half speed of synchronous speed and in the direction of rotation of stator
field

Energy star rating scheme for tubular fluorescent lamp is based on
.Lumens per watt after 100, 2000 and 3500 hours of usage

(B) End of lamp life in terms of burning hours

(C) Lumens depreciation after 2000 hours

(D) Color rendering index

A line trap in a long transmission line is used to

(A) improve the power factor (B) dampen the overvoltage oscillations
.trap the carrier signal in the line (D) protect the line against lightning stroke
One nation, One grid, One frequency scenario became fully functional on

(A) 15t May 2007 (B) 1%t January 2017

(C) 12t June 2021 @31+ December 2013

Under the conditions of maximum power transfer from an AC source to variable load,
(A) the load impedance must also be inductive, if the generator impedance is inductive
(B) the sum of the source and the load impedances is zero

.the sum of the source reactance and load reactance is zero

(D) the load impedance has the same phase angle as the generator impedance

PVC insulated, non-sheathed single core wires are most preferably used in
.Domestic and industrial wiring (B) Hazardous locations

(C) Wet locations (D) Underground systems

How much capacity of power plant can be supported with the solid waste generated through
municipalities in Gujarat?

@100 mw (B) 500 MW

©) 5SMwW (D) 1000 MW

What is the Battery voltage for AA and AAA Cells?

A1v B)SV

@:s5v D) 10V

In a transformer, the resistance between its primary and secondary should be ideally
(A) Zero (B) 10 ohm

(C) 1000 ohm @ 1:finite
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275.

276.

2717.

278.

279.

280.

281.

282.

283.

284.

The tool used for performance assessment and logical evaluation of avenues for improvement in
Energy management and audit is

(A) Fuel Substitution (B) Monitoring and Verification

(C) Energy Pricing .Bench Marking

As per Section 54, of Central Electricity Act 2003, no persons (other than authorized) shall
transmit the electricity more than a rate and

(A) 230 V, 100 W (B) 250 W, 250 V

@250 w, 100 v (D) 100 W, 250 V

Which of the following device is installed in Coal based thermal power plant to reduce air
pollution?

(A) Condenser (B) Interconnecting Transformer
(C) Cooling Towers .Electrostatic Precipitator

VIDHYUT PRAVAH, a portal developed by Ministry of Power, Government of India, Provides
data related to

(A) Real time power trading facility (B) Transmission loss data
.Electricity price and availability (D) Coal Production

Most data transmission in the future will be

.Digital Bit Stream encoded data (B) Analog in nature

(C) Carried over metallic telephone lines (D) Carried through earth wires

In the recent trends for household appliances, it is recommended to install
(A) BLDC Fans and Incandescent lamps

(B) Incandescent lamps and Induction Motor based fans

(C) Induction motor based fans and CFL lights

@)BLDC Fans and LED Lights

A rotary converter operates at

(A) low power factor .high Power factor

(C) zero power factor (D) none of the above

When the field of a synchronous motor is under-excited, the power factor will be

(A) Leading .Lagging

(C) Unity (D) Zero

Darlington Pair is mainly used for

.impedance matching (B) wideband voltage amplification
(C) power amplification (D) reducing distortion

Where is the largest coal belt in India?
(A) Assam (B) Uttar Pradesh
. Jharkhand (D) Kerala
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28S.

286.

287.

288.

289.

290.

291.

292,

293.

294.

What is the lumens output of standard 4 feet long 54 W, TS HO tube light?

(A) 1000 Lumens (B) 2500 lumens

(C) 10000 Lumens @) 5000 1umens

As per Indian Electricity Rules 1956, which voltage range was termed as High Voltage?
@50 v-33 kv (B) 250 V- 1000 V

(C) 22 kV-132 kV (D) 400 kV

The location of western region load dispatch centre is at

@ Mumbai (B) Ahmedabad

(O) Goa (D) Pune

IREDA was developed by the Government of India

(A) to implement more efficient methods for using Conventional Energy sources
.to promote the Development of Non-Conventional Energy Sources

(C) to develop Nuclear Energy in India

(D) to control pollution

A Zener diode is operated in the

(A) Knee point region (B) Forward bias region

.Breakdown region (D) None of the above

The speed of a 4 pole 60 Hz synchronous machine will be

@ 1300 rpm (B) 1500 rpm

(C) 2400 rpm (D) 3000 rpm

The ABCD Parameters are used in the analysis of

(A) Short Circuit (B) Electronic Circuit

(C) Open Circuit .Transmission line

Which is the largest thermal power plant in India?

(A) Mundra Thermal Power Station .Vindhyanchal Thermal Power station
(C) Sasan Ultra mega power plant (D) Talcher Super Thermal Power station

Which one is not the flagship program of Bureau of Energy Efficiency (BEE)?
.Electric Vehicle manufacturing

(B) Energy efficiency through Demands side management

(C) Energy conservation building code

(D) Energy efficiency in large industries

As per Indian Electricity Rules 1956, Rule 61, proper earthing shall be provided for voltage
above Volts.

A)S0V (B) 10V
(C) 230V @25V
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295.

296.

297.

298.

299.

300.

What is the approximate installed capacity of India as on November 2021?
(A) 223 GW @:92 cw

(C) 469 GW (D) 1345 GW

Star labeling of the electrical products are given by

(A) IRDA (B) GEDA

(C) Central Electricity Regulatory Authority .Bureau of Energy Efficiency
Which sector consume maximum electricity in India ?

(A) Agriculture .Industrial

(C) Domestic (D) Traction

A 'P' Pole lap wound DC machine has an armature current I,. The conductor current in the
armature winding is

) 1, @: r
(C) PxI, D) P/I,

Which of the following is not a type of primary resource?

(A) Crude oil (B) Coal

.Hydrogen Energy (D) Sunlight

In DC Machine, armature MMF is and field MMF is

(A) stationary, rotating (B) rotating, stationary
(O) rotating, rotating .stationary, stationary
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